Z Axis Aluminum Crossed Roller Translation Stages (vertical)
Stage Size 40 x 40 mm / 60 x 60 mm / 65 x 65 mm / 80 x 80 mm

TAM-3L

Light-weight Z axis aluminum stages with integrated angle bracket.
Crossed roller guide enable smooth travel.

Application
Systems
Optics &
Optical
Coatings
Opto-
Mechanics
Bases
Manual
Stages u
Actuators &
Adjusters
Motoeized
Stages
Light Sources &
Laser Safety
Index
Guide
X Axis Stages
XY Axis Stages
Z Axis Stages Specifications
RN, METRIC TAM-403L TAM-603L TAM-653L-M6 TAM-803L
A al umber
XZ Axis Stages INCH TAM-403LUU - TAM-653LUU -
: METRIC TAM-403RL - TAM-653RL-M6 -
XYZ Axis Stages (Opposite Model)
INCH TAM-403RLUU - TAM-653RLUU -
Rotation Stages Stage Size [mm] 40x40 60x60 65x65 80x80
Goniometer Axes of Travel Z axis
Travel [mm] +6.5 +6.5 +6.5 +7.5
Tilt Stages Lead of Actuator [mm/rotation] 0.5 0.5 0.5 0.5
Vacuum Micrometer Readable Resolution [mm] 0.01 0.01 0.01 0.01
Guide Method Crossed roller
Primary Material Aluminum
Finish Black anodized
e Load Capacity [N] 49 (5.0kgf) 49 (5.0kgf) 49 (5.0kgf) 49 (5.0kgf)
Ball Bearing Guide Travel Accuracy Straightness [um] 2 2 2 2
Crossed Roller Max. Moment Pitch [N-m] 3.0 5.0 5.0 7.0
Dovetail Caipiity Roll [N-m] 3.0 5.0 5.0 7.0
) Moment Stiffness | Pitch [7/N-cm] 0.66 0.3 0.3 0.12
Lapping
- Running Parallelism [pm] 20 20 20 20
V Groove Screw Squareness [um] 30 30 30 30
Ohters Options FP'/DM/WP FP'/DM/WP FP'/DM/WP FP?
Weight [kg] 0.15 0.3 0.4 0.6

15 x 15 mm
25 x 25 mm
40 x 40 mm
60 x 60 mm
65 x 65 mm
80 x 80 mm
100 x 100 mm
120 x 120 mm
Others

Compatible product B ;
Option Code S Nam‘; B —e— Le[;c:n o/'f ‘;'-:;:mit]or Micrometer R?;crj:]ble Resolution Reterence )}
FP Fine-pitch Screw Adjusters :Z::gﬁ:ggggg; 0.25 -
DM Differential Micrometer Heads MHF2-13F Sr?:rf)gzg gg:r%go%l.) E008
WP Sub-micron Worm Drive Micrometer Heads WGP-13 E;aerso%gg (F:fr’gso%ggss

* Please add an option code as the part number suffix to specify various optional specifications.

Wwu hours-web.com



EBW7050 ARag

e i
2D0D||8D
CAD|(CAD
Outline Drawing Application
Systems

TAM-403L/403LUU
E Hexagonal socket head cap screw M3x10...2 screws
Hexagonal socket head cap screw 6-32UNCx3/8...2 screws (UU)

B 2-¢3.8 mounting hole
| | Clamp
|
104 : A
- C depth 7
A__A_ /8-Ddepth5
]
o
[] 8 = < .
<o
P b ©
H
(L=t S
o [T 1le )
24
27.5
Part Number (mm) (mm) C D
TAM-403L 16 32 M6 P1 M3
TAM-403LUU 15.875 31.75 1/4-20UNC 6-32UNC

TAM-603L [ Hexagonal socket head cap screw Mdx12...4 screws

4-¢4.5 mounting hole 50
5 -0
Clamp
P |
M16 P1 depin 6
25 25
8-M4 depth 8
3 °
b @
@ 7$—4€— &Ei’ 8o
w & =
g | -
E L3 © &
~ [ ] Il
8.5 21 60 (14)
25 28.5
58.5

TAM-653L-M6/653LUU
E Hexagonal socket head cap screw M6x15...4 screws (M6)
Hexagonal socket head cap screw 1/4-20UNCx5/8...4 screws (UU)

TAM-403RL/403RLUU

B Hexagonal socket head cap screw M3x10...2 screws Optics &
Hexagonal socket head cap screw 6-32UNCx3/8...2 screws (UU) P

B 4-¢E mounting hole
o if
[¢)
& &
(1] N4
] 0
Ao [~ ©
Clamp
A A 9-D depth 8
o O 194 iy
o , <
2 o o o 0
© Q @ ©| v
N
0 L < ~
@ 1
3 o o o
. 1]
21 65 (14)
A B (6] E
Part Number (mm) (mm) (mm) D (mm)
TAM-653L-M6 25 50 25 M6 P1 6.5
TAM-653LUU 25.4 50.8 25.4 1/4-20UNC 7

Optical
2-¢3.8 mounting hole B Coatings
Clamp | QL
L Opto-
| it 104 Mechanics
C depth 7
8-Ddepth 5 \ L__.A .A.‘ Bases
o\ ¢ o 0
e B e\ of IR
N 1 © Ra oﬂ % . ;ﬂt:n“al
T es
[T 8 9
(12 40 21
Actuators &
Adjusters
Part Number (¢} D
i} i) Motoeized
TAM-403RL 16 32 M6 P1 M3 Stages
TAM-403RLUU 15.875 31.75 1/4-20UNC 6-32UNC
Light Sources &
Laser Sa
TAM-803L E Hexagonal socket head cap screw M4x12...4 screws My
’—L-‘ 4-¢4.5 mounting hole Index
3 g2
4} 4} Clamp
] i Guide
15 X Axis Stages
70 8-M4 depth 8
25 25 4-M4 depth 8 XY Axis Stages
-© Z Axis Stages
© © b
wn = = I'{(\I-’ 0
i IO ol o XZ Axis Stages
& 60 )¢ RI8
© I 8 .
© X S - XYZ Axis Stages
~ © © | o
7| 3 2l -
) - 7 Rotation Stages
/ \
‘ L/
t / \ Goniometer
85 22 | 80 \ (14
25 335 |M16P1depth6,/ 4-m4 depth 8/ \\ 4-M3 depth 8 Tilt Stages
63.5 (PCD$62) (PCDp42)
Vacuum
TAM-653RL-M6/653RLUU
B Hexagonal socket head cap screw M6x15...4 screws (M6)
Hexagonal socket head cap screw 1/4-20UNCx5/8...4 screws (UU)
4-¢E mounting hole B Ball Bealing Guide
b o Crossed Roller
(&} B
Dovetail
ol ®
r Lapping
n
© | o ]
V Groove Screw
Clamp
9-D depth 8 A A
f}) © o 15 x 15 mm
<
™ . A " ,8_ 25 x 25 mm
)| © © © =4
N < 4 [t}
- ©
o o © 8
I ] =
(14) 65 21
100 x 100 mm
A B C E 120 x 120 mm
Part Number (mm) (mm) (mm) D (mm)
TAM-653RL-M6 25 50 25 M6 P1 65 Others
TAM-653RLUU 25.4 50.8 25.4 1/4-20UNC 7

www.hours-web.com



https://pan.baidu.com/s/1MaubamYLOd1LHuI7BYCKgQ#list/path=%2F

